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= 6,496,565 6,283,265 213,300
== 998,922 972,402 26,520
Al 8,261,755 8,398,098 A 136,343
AlCIOtN S & 124,580 137,555 N12,975
WHOOH M = Al AMEY 124,580 137,555 A12,975
OHE T Al DBt = 36,180 49,155 A12,975
201 Lt AH| 7,750 10,725 A2,975
01 AF222|H] 7,750 10,725 N2,975
O3 ggad 1,750 4,725 N2,975
DEASOG 3o HA ¢
23 1,750,000 1,750 4,725 N2,975
207 S RINH| 26,000 36,000 A 10,000
01 ¢ E4H| 26,000 36,000 A 10,000
OXlsE Se=82ZAY 2= AA 0 0 10,000 A 10,000
Mo & HEdMH 2E 11,593, 133 11,456,681 136,452
= 6,470,739 6,257,439 213,300
< 984,889 958,369 26,520
Al 4,137,505 4,240,873 A 103,368
AMA HEAHM 2= 279,721 281,427 A1,706
MHOtEHH 2L 2H 14,470 16,176 A1,706
201 Lt AH| 14,470 16,176 A1,706
01 AF222|H] 12,454 14,160 A1,708
O3 g4 940 2,646 A 1,706
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< 3,600 0 3,600
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== 3,600 0 3,600
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O1 LBt 2H| 3,600 0 3,600
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AMEAIE) 3,600,000 «14! 3,600 0 3,600
== 3,600 0 3,600
MOl =2 25 11,228, 168 11,093,610 134,558
= 6,458,300 6,245,000 213,300
< 963,920 941,000 22,920
Al 3,805,948 3,907,610 A 101,662
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01 XAt EEH S 1,000 0 1,000
OMOI MM =2 FH| Y (AFAE)
1,000,000 * 14! 1,000 0 1,000
= 1,000 0 1,000
SANBAL ALY 7,709,338 8,010,000 ~300,662
= 4,314,000 4,486,000 A 172,000
< 677,800 704,800 A27,000
Al 2,717,538 2,819,200 A 101,662
401 AlEHIZ 20| 7,347,653 7,648,315 300,662
= 4,314,000 4,486,000 A 172,000
[ 677,800 704,800 A27,000
Al 2,355,853 2,457,515 A101,662
01 Al&H 7,329,653 7,630,315 300,662
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= 4,303,920 4,475,920 A 172,000
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Al 2,350,093 2,451,755 ~ 101,662
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= 93,100 0 93,100
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= 93,100 0 93,100
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) 93, 100, 000! * 14! 93,100 0 93,100
= 93, 100 0 93,100
2010¢ 98 ST =7H| 341,120 0 341,120
= 291,200 0 291,200
< 49,920 0 49,920
302 OI=L TN AS 341,120 0 341,120
= 291,200 0 291,200
< 49,920 0 49,920
02 QIZHOITHAH 2 A 2 341,120 0 341,120
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) 341,120,0002 *14! 341,120 0 341,120
= 291,200 0 291,200
< 49,920 0 49,920
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